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HE & 36 | 40 | 76 100 | 660
£5K BIEZ 41 | 38 79 13.0 66.0
S0 R 40 | 41 | st 150 | 660
BAX &h 42 | 40 82 160 66.0
Y F6A 37 | 40 77 100 67.0
S8 40 | 40 | 80 130 | 670
8 =X 39 | 41 80 130 | 670
*@ EL 33 | 35 68 680 BG
Fols BRIE 37 | 43 | 80 120 | 680
e BE 39 | 388 | 75 60| 690
TEEE 40 | 42 82 130 69.0
KEBA 39 45 84 15.0 69.0
PES5XK BT 43 | 41 84 160 | 690
YA EE 40 | 40 80 100 700
W/ \§E 40 | 41 81 11.0 700
FER R 42 | 41 83 130 700
™ 8BA 40 | 43 83 130 | 700




ouT IN GROSS HDCP NET REMARKS
45 40 85 150 700
AH 1B 39 38 77 6.0 710
ES RIS 40 41 81 100 71.0 RE
El = 40 42 82 110 710
A & 41 42 83 120 71.0
AR 6 43 41 84 130 710
BE =R 43 43 86 150 71.0
RS BB 42 43 85 130 720 RE
R EN 45 43 88 16.0 720
BAE MEF 41 43 84 110 730
A 8iE 42 43 85 120 730
W 5h8 43 42 85 120 730
B8 AR 44 43 87 140 730 RE
HH xR 40 43 83 9.0 740
BE B 44 43 87 130 740
FE 8% 44 43 87 130 740
B RRF 39 38 77 24 746
BI% RIF 40 45 85 9.0 76.0 RE
Hd % 43 46 89 130 76.0
e Rig 41 47 88 90 79.0
NE S 42 52 94 140 80.0
ol s 46 48 94 130 810
NH AIE 50 48 o8 150 830 RE




ABIREBM BISA + iR

50 &2
ouT IN GROSS HDCP NET REMARKS

88 1E3A 44 | 38 82 160 | 660
F KE 45 | 40 85 190 66.0
T BAE 41 | 43 84 170 67.0
AN NEF 40 | 45 85 180 67.0
b FRF 44 | 45 89 220 67.0
7 EXEE 45 | 45 | 90 230 670
=DTH X2 48 | 47 95 28.0 67.0
‘kigx F0%6 41 | 43 84 16.0 68.0
SR & 42 | 43 85 170 68.0
B &L 42 | 43 | 85 170 680
I &F 49 | 48 o7 290 680
B BB 44 | 42 86 17.0 690
AH & 46 | 40 86 160 | 700
EZ HBX 42 | 46 88 180 700
KE FT 44 | 48 92 220 | 700
5 S 47 | 46 | 93 230 | 700
NiE % 47 | 50 o7 270 700
BEe —3 40 | 45 85 140 | 710
2O &osh 44 | 44 88 170| 710
ME ERF 42 | 46 | 88 170| 710




NAME ouT [\ GROSS HDCP NET REMARKS

g IS 43 46 89 180 710
Hif = 44 46 90 190 710
w®REA Z 46 45 91 200 710
BE #eg 46 46 92 210 710
s 5 48 50 98 270 710 RE
BN 8% 46 45 91 190 720
KE {£83 54 56 110 380 720
BT B— 40 41 81 84 726 BG
NE EZ 47 42 89 16.0 730
iz 43 47 90 170 730 RE
i B 47 47 94 210 730
AR &EX 44 44 88 140 740
& hE 42 47 89 150 740
AV TIET 46 44 90 16.0 740
BE EE 43 47 90 16.0 740 RE
NE 85 44 48 92 180 740
hE RX 47 52 99 250 740
B T2TF 49 83 102 280 740
s &R 46 45 91 16.0 750
=t =7 45 47 92 170 750 RE
R &8 48 45 93 180 750
ZE = 49 45 94 190 750
BE %Kit 39 52 91 150 760
iRk &S 43 44 87 96 774
RR EHNF 47 83 100 220 780 RE
® f8ER 50 51 101 230 780
&% =3 46 49 95 16.0 790
W=x & 50 46 96 17.0 790
58 Em 46 52 98 17.0 810
INFR RS 50 83 103 220 810 RE




